
O= gf/fo0f k|;fb /]UdL
9851194174

#$

O= :jfledfg cfrfo{
9851235476

#%

k|ultzLn ;d'xnfO{ cTolws dtsf ;fy ljhoL u/fcf}+ .

O= ;'dg of]u]z
pkfWoIf

9855070060

O= s[i0f axfb'/ kf08]
pk–dxf;lrj
9851121686

O= laGb' kf}8]n
sf]iffWoIf

9856044762

O= /fh]Gb| uf}td
;x–sf]iffWoIf
9841929838

O= 8f= nId0fk|;fb l3ld/]
dxf;lrj

9851032276

;b:o kbsf pDd]bjf/x?

O= k|f= 8f= lji0f'k|;fb kf08]
cWoIf

9841318939

#
# #

#

O= wd{ dxh{g
9851175375

@%

O= /fwf 9sfn
9861805972

#!

O= dlgif ;'j]bL
9840093869

#@

cf= Pln;f uf}td
9851222489

##

O= lgt]z s'df/ ofbj
9808921945

#^

O= /d]z kf}8\ofn
9841001320

#)

O= lg/g sfkm\n]
9851166842

@^

O= xh{ pldg t'd|f]s lnDa' 
9810104866

@& 

O= kjg /fjn 
9858423144

@( 

O= ;"o{k|;fb s8l/of
9851202751

@* 

# #

g]=O{=P= sf] #$cf}+ s]Gb|Lo sfo{sfl/0fL ;ldltdf k|f= 8f= lji0f'k|;fb kf08] 
-s]Gb|Lo cWoIf_ sf] g]t[Tjdf k|ultzLn ;d'xsf pDd]bjf/x?



u08sL k|b]zsf pDd]bjf/x?

O= k|f= 8f= lji0f'k|;fb kf08]
s]lGb|o cWoIfsf pDd]bjf/

O= dgf]h s'df/ l;Fx
;b:o

9846571980

O= ;+ho ;'j]bL
;b:o

9846260278

O= sfnL bf; ;fksf]6f
;b:o

9856031326

O= k|lbk cof{n
;b:o

9849575185

O= ljj]s e§/fO{
;b:o

9745987803

O= ;+ho nfld5fg]
;b:o

9857655555

O= ;'b{zg 9sfn
;b:o

9846296146

O= kbd nfn clwsf/L
;b:o

9846025536

O= ;'jf; zdf{
;b:o

9849598104

O= cfgGb e§/fO{
;lrj

9856071580

O= s[i0f l/hfn
pk–;efklt
9857621214

O= cl:dtf vgfn
;x–;lrj

9846087192

O= ;f]lat >]i7
sf]iffWoIf

9841159026

g]kfn OlGhlgP;{ P;f]lzP;g (NEA) 
sf] t]];|f] u08sL k|b]z sfo{sfl/0fL ;ldltsf] 

lgjf{rgdf 
ææ;+o'St k|ultzLn ;d'xÆÆ sf pDd]bjf/x?

O= dx]Gb| axfb'/ uf]bf/
;efklt

9856026400

O= /fd rGb| kf]v|]n (RC)
s]lGb|o ;ldlt ;b:o

9856020455

O= OZj/ e08f/L
;b:o

9860288355

! !

! ! ! !

!

^ & * ( !)

@ # $ %

O= 8f= nId0fk|;fb l3ld/]
s]lGb|o dxf;lrjsf pDd]bjf/

;+o'St k|ultzLn ;d'xnfO{ cTolws dtsf ;fy ljhoL u/fcf}+ .


